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maxInArray<T: Comparable>(input:
max = input[0]

item input {

item > max {

max item

MaX

[T]) —> T {

E*E




>(input: [T]) —> T {

Internet
(The Web)

—— (TCP/IP Network)

‘ N / //,/
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func maxInArray<T: Comparable>(input: [T]) —> T {

- m 2 — ala [/

NSURLSessionDownloadTask xdownloadl Sk = —
[manager downloadTaskWithRequ®s im &m\ =
progress:nil
destination:”NSURL *x(NSURL xtargetPath,
\ NSURLResponse xrespc
{

NSURL *documentsDirectoryURL =
[ [INSFileManager defaultManager]
URLForDirectory:NSDocumentDirectory
inDomain:NSUserDomainMask
appropriateForURL:nil
create:NO
error:nil];
return [documentsDirectoryURL URLByAppendingPathComponent:
[response suggestedFilename]];
y completionHandler:~(NSURLResponse xresponse,
NSURL xfilePath,
NSError xerror) {
NSLog(@"File downloaded to: %@'", filePath);
H;

[downloadTask resumel;
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@interface Object {

Class isa;

C
_|_
)
A

@implementation Object

+ (id)initialize
{

return self;

|
o
4
O

{

return self;

S (1a)class A
A = function(B, C

-(id) retain

{

return _cobjc_rocotRetain(self);

A.method
C = A.method?
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PULL DRIVER
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PULL DRIVERSCE]

Value<T> {
valueBlock: () —> T
value: T {
{
valueBlock = { newValue }
F
{ valueBlock() }
¥
( initValue: T) {
valueBlock = { initValue }
¥
( initBlock: () > T) {
valueBlock = i1nitBlock
¥




+(left: Value<Int>, right: Value<Int>) —> Value<Int> {
F Value {

left.value + right.value

¥
¥
ValuUeB LOCKY (J = 1
value: T {
{
valueBlock = { newValue }
¥
{ valueBlock() }
¥
( initValue: T) {
valueBlock = { initValue }
¥
( initBlock: () > T) {

valueBlock = 1nitBlock




+(left: Value<Int>, right: Value<Int>) —> Value<Int> {

VN BTV |

| - |

| - |

| - |

ada =

c.value
a.value
c.value
b.value
c.value
c.value
a = C +
a.value

Value(5)

= Value(7)
=a+b

|
0o

12

o
O

Value<Int>
Value<Int>
Value<Int>

12
Value<Int>
15
Value<Int>
20
Value<Int>
Value<Int>
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PULL DRIVERSCE]

Value<T> {
_value: T
observers: [(T) —> Void] = []
value: T {
{
_value = newValue
observers.forEach { (observer)
observer(newValue)
s
+
{ ~value }

( initValue: T) { value = initValue }
observe( observeFunc: (T) —> Void) {
observeFunc( value)

observers.append(observeFunc)




+(left: Value<Int>, right: Value<Int>) —> Value<Int>{
leftValue = left.value
rightValue = right.value
recalue = { leftValue + rightValue }
returnValue = Value(recalue())

left.observe {
leftValue = $0

returnValue.value = recaluel()
¥
right.observe {
rightValue = $0
returnValue.value = recalue()

returnValue

( initValue: T) { _value = initValue }
observe( observeFunc: (T) —> Void) {
observeFunc( value)

observers.append(observeFunc)




+(left: Value<Int>, right: Value<Int>) —> Value<Int>{
leftValue = left.value

r a = Value(3) Value<Int>
r b = Value(5) Value<Int>
r c=a+b Value<Int>
c.observe { Value<Int>

print("\tvalue: \($0)") (4 times)

¥

a.value = 8 Value<int>
c.value 13
a.value = 12 Value<Int>
c.value 17
b.value Value<int>
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Value<T> VS ReactiveCocoa
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Value<T> VS ReactiveCocoa
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URLRequest(url: baidu)
URLRequest(url: google)

requestA
requestB

responseSignalA = sessionManager.reactive.data(with:
requestA)

responseSignalB
requestB)

sessionManager.reactive.data(with:

responseSignalAll =
SignalProducer.combinelLatest([responseSignalA,
responseSignalB])

responseSignalAll.start { event
event {
.value(value):

print("\(value)") // 4 MEFEIXE
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